

June 17, 2019

Ms. Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319, 27th Floor 2300 Yonge Street Toronto, ON M4P 1E4

Re: Hydro One Networks Inc. 2018 to 2022 Custom IR Distribution Rate Application

Board File No. EB-2017-0049

AMPCO Cost Claim

Dear Ms. Walli:

Attached please find AMPCO's cost claim in the above proceeding. AMPCO's intervention was focussed on the key cost drivers of the application. AMPCO worked closely with other intervenors in order to minimize duplication.

Please do not hesitate to contact me if you have any questions or require further information.

Sincerely yours,

Colin Anderson President Association of Major Power Consumers in Ontario

Copy to: Hydro One Networks Inc.

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

			Instructions	;	
- All claims m - A separate Disbursemen However, on - The cost cla - A CV for each	nust be in Canadiar "Detail of Fees and its Being Claimed") ly one "Summary of im must be suppo ch consultant/anal	n dollars. If applicable, state e Rate: d Disbursements Being Claimed) is required for each lawyer, a of Fees and Disbursements" co rted by a completed Affidavit s lyst must be attached unless pr	exchange rate " (comprising nalyst/consu- vering the will signed by a re- rovided to the	g a "Statemen g a "Statemen Itant and artic hole of the par epresentative of e Board as pre	Country:
File # EB-	2017-0049		Process:	Hydro One 2	2018-2022 CIR Application
Party:	AMPCO		- Affi	ant's Name:	
HST Numbe	F	Full Registrant			Rate Ontario: 13.00% ring Non-Profit
			Affidavit		
I,			, of the Ci	ty/Town of	
in the Prov	ince/State of				, swear or affirm that:
2. I have example and the state of the state	mined all of the do ed", "Statement(s) of ned "Summary of Fo nts Being Claimed" egy Board process r claim does not inclu	ocumentation in support of this of Fees Being Claimed" and "Stees and Disbursements Being Cinclude only costs incurred and referred to above.	s cost claim, i tatement(s) c Claimed", "St d time spent r time spent,	ncluding the a of Disbursemen atement(s) of directly for the by a person tl	edge of the matters attested to herein. Attached "Summary of Fees and Disbursements onts Being Claimed". Fees Being Claimed" and "Statement(s) of e purposes of the Party's participation in the other hat is an employee or officer of the Party as
Signature	of Affiant				
Sworn or a	affirmed before	e me at the City/Town of			,
in the Prov	vince/State of			, on	. (date)

Commissioner for taking Affidavits

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

File # EB-	2017-0049		Process:	Hydro One 2018-2022 CIR Application
Party:	AMPCO			
		Summary of Fees	and Disburse	ments Being Claimed
Legal/con:	sultant/other fees	\$	111,867.50	
Disbursen	nents	\$	-	
HST		\$	14,542.78	
Total Cost	Claim	\$	126,410.28	-

Payment Information

Make cheque payable to: Association of Major Power Consumers in Ontario

Send payment to this address: 65 Queen Street West, Suite 1510

Toronto, Ontario

M5H 2M5

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	2017-0049		Process:	Hydro One 201	18-2022 CIR Application	
Party:	АМРСО		Service P	rovider Name:	Shelley Grice, P. Eng.	
	SERVICE PROVIDER TYPE	(ched	Year Called to eck one) Bar		Completed Years Practising/Years of Relevant Experience	
	Legal Counsel				19	
	Articling Student/Paralegal					
	Consultant		✓		Hourly Rate: \$290	
	Analyst				<u> </u>	
	For Consultant/Analyst:		CV attached CV provided within previo		narged (<i>enter</i> %): 13.0%	

	31		within previe	-				
Statement of Fees Being Claimed								
	Hours	Hourly Rate Subtot		Subtotal		HST	Total	
Pre-hearing Conference								
Preparation		\$	290.00	\$	-	\$	-	\$ -
Attendance		\$	290.00	\$	-	\$	-	\$ -
Technical Conference								
Preparation	22.50	\$	290.00	\$	6,525.00	\$	848.25	\$ 7,373.25
Attendance	19.00	\$	290.00	\$	5,510.00	\$	716.30	\$ 6,226.30
Interrogatories								
Preparation	75.00	\$	290.00	\$	21,750.00	\$	2,827.50	\$ 24,577.50
Responses	20.25	\$	290.00	\$	5,872.50	\$	763.43	\$ 6,635.93
Issues Conference								
Preparation		\$	290.00	\$	-	\$	-	\$ -
Attendance	4.75	\$	290.00	\$	1,377.50	\$	179.08	\$ 1,556.58
ADR - Settlement Conference								
Preparation		\$	290.00	\$	-	\$	-	\$ -
Attendance		\$	290.00	\$	-	\$	-	\$ -
Proposal Preparation		\$	290.00	\$	-	\$	-	\$ -
Argument								
Preparation	114.50	\$	290.00	\$	33,205.00	\$	4,316.65	\$ 37,521.65
Oral Hearing								
Preparation	66.00	\$	290.00	\$	19,140.00	\$	2,488.20	\$ 21,628.20
Attendance	60.50	\$	290.00	\$	17,545.00	\$	2,280.85	\$ 19,825.85
Other Conferences								
Preparation	3.25	\$	290.00	\$	942.50	\$	122.53	\$ 1,065.03
Attendance		\$	290.00	\$	-	\$	-	\$ -
Case Management				\$	-	\$	-	\$ -
TOTAL SERVICE PROVIDER FEES				\$:	111,867.50	\$	14,542.78	\$ 126,410.28

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	2017-0049	Process:	Hydro One 2	018-2022 CIR Application	
Party:	AMPCO	Service Provi	der Name:	Shelley Grice, P. Eng.	

Party:

	ent of Disbursements Being Clair Net Cost	HST	Total
	Net Cost		
Scanning/Photocopy		\$ -	\$ -
Printing		\$ -	\$ -
Courier		\$ -	\$ -
Telephone/Fax		\$ -	\$ -
Transcripts		\$ -	\$ -
Travel: Air		\$ -	\$ -
Travel: Car		\$ -	\$ -
Travel: Rail		\$ -	\$ -
Travel (Other):		\$ -	\$ -
Parking		\$ -	\$ -
Тахі		\$ -	\$ -
Accommodation		\$ -	\$ -
Meals		\$ -	\$ -
Other:		\$ -	\$ -
Other:		\$ -	\$ -
Other:		\$ -	\$ -
TOTAL DISBURSEMENTS:	\$	- \$ -	\$ -

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5 416-694-3917, shelley.grice@rogers.com

INVOICE #A1906

January 30, 2018

AMPCO

Thomson Building 65 Queen Street West, Suite 1510 Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Hydro One Networks Inc. 2018 to 2022 Dx Rates

EB-2017-0049

Description	Charge Type	Hours	Rate	Amount
Professional Services of				
Shelley Grice	Preparation		\$290.00	\$0.00
	Attendance - SC	42.25	\$290.00	\$12,252.50
	Conferences	5.50	\$290.00	\$1,595.00
	Preparation -ARG		\$290.00	\$0.00
	Case Management		\$170.00	
Sub-Total				\$13,847.50
HST on Services				\$1,800.18
Disbursements				
HST on Disbursements				
GST # 817042757RT0001		47.75	TOTAL	\$15,647.68

Details are included in the attached time sheet.

Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shellygrice

Shelley Gri	ice		
PROJECT TI	NE SHEET	DATE	INVOICE
EB-2017-0049		2017-12-30	#A1906
Hydro One Ne	tworks Inc.		
2018 - 2022 C PROJECT TIME	IR Distribution Revenue Requirement		
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2017-06-11	Preparation; Review application details; discuss	Preparation -	0.75
2017-00-11	w/client; Prepare Letter of Intervention	interrogatories	0.75
2017-09-06	Review PO#1; Review & consider application;	Interrogatories -	2.00
	Prepare interrogatories	Preparation	
2017-09-09	Review & consider application; Prepare	Interrogatories -	2.25
	interrogatories; Review Staff Community Meetings	Preparation	
	Report; Review & consider Draft Issues List		
2017-09-20	Review submissions on Draft Issues List	Interrogatories - Preparation	0.25
2017-09-26	Review & consider application; Prepare	Interrogatories -	4.00
	interrogatories	Preparation	
2017-09-27	Review & consider application; Prepare	Interrogatories -	3.75
	interrogatories	Preparation	
2017-09-29	Review & consider application; Prepare	Interrogatories -	4.00
	interrogatories	Preparation	
2017-10-02	Review & consider application; Prepare	Interrogatories -	2.50
	interrogatories	Preparation	
2017-10-10	Review & consider application; Prepare	Interrogatories -	4.50
	interrogatories	Preparation	
2017-10-11	Review & consider application; Prepare	Interrogatories -	5.00
	interrogatories	Preparation	
2017-10-12	Review & consider application; Prepare	Interrogatories -	6.25
	interrogatories; analyze data	Preparation	
2017-10-13	Review & consider application; Prepare	Interrogatories -	1.25
	interrogatories; Review Additional Compensation	Preparation	
	Evidence	'	
2017-10-16	Prepare briefing on application and attend AMPCO	Other	1.50
	Fall Meeting to seek input from AMPCO Members	Conferences	
2017-10-31	Review & consider application; Prepare	Interrogatories -	2.50
	interrogatories	Preparation	
2017-11-02	Review & consider application; Prepare	Interrogatories -	0.75
	interrogatories	Preparation	
2017-11-07	Review & consider application; Prepare	Interrogatories -	0.75
	interrogatories	Preparation	

Review PO#2 & Final Issues List; emails; client

Interrogatories -

Preparation

0.25

2017-12-01

reporting

		Total	47.75
	PO#2 Comments	interrogatories	
2017-12-22	Preliminary Review of Update Ex Q; emails; Review	Preparation -	1.00
	Evidence	interrogatories	
2017-12-13	Preliminary Review of Additional Compensation	Preparation -	0.50
	w/parties	Conference	
2017-12-07	Attend HONI Presentation Day at OEB; meeting	Issues	4.00

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5 416-694-3917, shelley.grice@rogers.com

INVOICE #A1907a

May 31, 2019

AMPCO
Thomson Building
65 Queen Street West, Suite 1510

Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Hydro One Networks Inc. 2018 to 2022 Dx Rates

EB-2017-0049

Description	Charge Type	Hours	Rate	Amount
Professional Services of				
Shelley Grice	Preparation	119.50	\$290.00	\$34,655.00
	Attendance - TC	19.00	\$290.00	\$5,510.00
	Conferences	0.75	\$290.00	\$217.50
	Attendance - OH		\$290.00	\$0.00
	Preparation -ARG		\$290.00	\$0.00
	Case Management		\$170.00	
Sub-Total				\$40,382.50
HST on Services				\$5,249.73
Disbursements				
HST on Disbursements				
GST # 817042757RT0001		139.25	TOTAL	\$45,632.23

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5 416-694-3917, shelley.grice@rogers.com

INVOICE #A1907b

May 31, 2019

AMPCO Thomson Building 65 Queen Street West, Suite 1510

Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Hydro One Networks Inc. 2018 to 2022 Dx Rates

EB-2017-0049

Description	Charge Type	Hours	Rate	Amount
Professional Services of				
Shelley Grice	Preparation	22.00	\$290.00	\$6,380.00
	Attendance - TC		\$290.00	\$0.00
	Conferences	1.75	\$290.00	\$507.50
	Attendance - OH	60.50	\$290.00	\$17,545.00
	Preparation -ARG	114.50	\$290.00	\$33,205.00
	Case Management		\$170.00	
Sub-Total				\$57,637.50
HST on Services				\$7,492.88
Disbursements				
HST on Disbursements				
GST # 817042757RT0001		198.75	TOTAL	\$65,130.38
		100170	. 317(2	400,10010

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Gri	ce		
PROJECT TIM		DATE	INVOICE
EB-2017-0049 Hydro One Net 2018 - 2022 CI	works Inc. R Distribution Revenue Requirement	2019-05-31	#A1907
PROJECT TIME S			
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2018-01-16	Preparation; Attend Joint Session Meeting - TX Comp Evd	Issues Conference	0.75
2018-01-19	Review & consider Application; Prepare interrogatories; Review HONI correspondence	Preparation - interrogatories	2.00
2018-01-20	Review & consider Application; Prepare interrogatories; Prepare excel tables	Preparation - interrogatories	2.00
2018-01-21	Review & consider Application; Prepare interrogatories; Review Board Staff interrogatories	Preparation - interrogatories	3.00
2018-01-22	Review & consider Application; Prepare interrogatories; Review Board Staff interrogatories; Prepare excel tables	Preparation - interrogatories	10.50
2018-01-23	Review & consider Application; Prepare interrogatories	Preparation - interrogatories	10.25
2018-01-24	Review & finalize interrogatories; Call w/J. Girvan	Preparation - interrogatories	4.00
2018-02-13	Preliminary review of interrogatory responses	Interrogatories - Responses	4.00
2018-02-22	Review & consider interrogatory responses	Interrogatories - Responses	2.25
2018-02-23	Review & consider interrogatory responses	Interrogatories - Responses	3.00
2018-02-24	Review & consider interrogatory responses	Interrogatories - Responses	4.00
2018-02-25	Review & consider interrogatory responses	Interrogatories - Responses	7.00
2018-02-26	Prepare for Technical Conference; Analyze data; Prepare letter re: topic areas	TC - Preparation	5.50
2018-02-27	Prepare for Technical Conference; Meet with M. Rubenstein to discuss issues	TC - Preparation	5.00
2018-02-28	Prepare for Technical Conference; Review Panels & scheduling	TC - Preparation	7.00
2018-03-01	Attend Settlement Conference; meeting w/parties	TC - Attend	8.00
2018-03-01	Prepare for Settlement Conference Day #2	TC - Attend	1.00
2018-03-02	Attend Settlement Conference; meet w/ M. Rubenstien re: questions for Panel #3	TC - Attend	8.00

2018-03-04	Prepare questions for Panel #3; Call w/M. Rubenstein	TC - Preparation	4.00
2018-03-06	Review Transcript Day #3	TC - Attend	3.00
2018-03-10	Review PO#4; emails	Oral Hearing - Preparation	0.25
2018-03-30	Review Technical Conference Undertakings	Oral Hearing - Preparation	1.00
2018-04-05	Call w/W. Clark re: case/vegetation management; Review PO#5	Oral Hearing - Preparation	0.50
2018-04-12	Prepare slides & seek input from AMPCO members at AMPCO Spring Meeting	Oral Hearing - Preparation	1.50
2018-04-16	Review Decision on Confidentiality; Review scope of evidence filed by OEB Staff & Anwaatin	Oral Hearing - Preparation	0.50
2018-05-03	Review compensation update; Call w/M. Rubenstein re: hearing	Oral Hearing - Preparation	0.50
2018-05-05	Review Update - 2017 Actuals	Oral Hearing - Preparation	0.25
2018-05-28	Review compensation update; Prepare interrogatories	Preparation - Interrogatories	1.00
2018-05-29	Review Witness Panels; emails	Oral Hearing - Preparation	0.25
2018-06-01	Call w/M. Rubenstein re: hearing; Call w/intervenors re: hearing; Preparation for Oral Hearing	Oral Hearing - Preparation	2.25
2018-06-04	Review evidence, updates, undertakings & prepare for Oral Hearing	Oral Hearing - Preparation	8.00
2018-06-05	Review evidence, updates, undertakings & prepare for Oral Hearing	Oral Hearing - Preparation	6.00
2018-06-06	Review evidence, updates, undertakings & prepare for Oral Hearing	Oral Hearing - Preparation	2.50
2018-06-07	Review evidence, updates, undertakings & prepare for Oral Hearing	Oral Hearing - Preparation	7.00
2018-06-08	Review evidence, updates, undertakings & prepare for Oral Hearing	Oral Hearing - Preparation	3.50
2018-06-09	Review evidence, updates, undertakings & prepare for Oral Hearing	Oral Hearing - Preparation	2.00
2018-06-10	Review evidence, updates, undertakings & prepare for Oral Hearing; Prepare compendium Panel 1	Oral Hearing - Preparation	8.00
2018-06-11	Preparation; Attend Oral Hearing Day 1	Oral Hearing - Attendance	7.75
2018-06-12	Preparation; Attend Oral Hearing Day 2	Oral Hearing - Attendance	5.00
2018-06-12	Prepare for Oral Hearing	Oral Hearing - Preparation	2.00

2018-06-13	Prepare for Oral Hearing; Meeting w/ M.	Oral Hearing -	8.00
	Rubenstein at AMPCO re: Capital; Review updates	Preparation	
2018-06-14	Preparation; Attend Oral Hearing Day 3	Oral Hearing - Attendance	7.50
2018-06-15	Preparation; Attend Oral Hearing Day 4	Oral Hearing - Attendance	6.50
2018-06-18	Preparation; Attend Oral Hearing Day 5	Oral Hearing - Attendance	7.25
2018-06-18	Prepare for Oral Hearing Panel 4	Oral Hearing - Preparation	3.00
2018-06-19	Preparation; Attend Oral Hearing Day 6	Oral Hearing - Attendance	7.50
2018-06-19	Prepare for Oral Hearing Panel 5	Oral Hearing - Preparation	2.50
2018-06-21	Preparation; Attend Oral Hearing Day 7	Oral Hearing - Attendance	7.25
2018-06-21	Prepare for Oral Hearing Panel 5; Review HONI file	Oral Hearing - Preparation	4.50
2018-06-22	Preparation; Attend Oral Hearing Day 8	Oral Hearing - Attendance	7.25
2018-06-24	Prepare for Oral Hearing Panel 5; Update notes	Oral Hearing - Preparation	2.00
2018-06-25	Preparation; Attend Oral Hearing Day 9	Oral Hearing - Attendance	4.50
2018-07-06	Prepare Argument; Review PO#7	Preparation - Argument	4.50
2018-07-13	Call w/M. Rubenstein & J. Girvan re: submissions; Finalize outline	Preparation- Argument	1.00
2018-07-18	Review evidence & prepare final submissions; Review HONI AIC	Preparation- Argument	8.00
2018-07-19	Review evidence & prepare final submissions; Review HONI AIC	Preparation- Argument	9.50
2018-07-20	Review evidence & prepare final submissions; Review HONI AIC	Preparation- Argument	3.00
2018-07-22	Review evidence & prepare final submissions; Review HONI AIC	Preparation- Argument	1.50
2018-07-23	Review evidence & prepare final submissions; Review HONI AIC	Preparation- Argument	4.00
2018-07-24	Review evidence & prepare final submissions; Review HONI AIC	Preparation- Argument	7.00
2018-07-25	Review evidence & prepare final submissions; Review HONI AIC	Preparation- Argument	7.25
2018-07-26	Review evidence & prepare final submissions; Review HONI AIC	Preparation- Argument	4.00

2018-07-27	Review evidence & prepare final submissions;	Preparation-	5.00
	Review HONI AIC	Argument	
2018-07-29	Review evidence & prepare final submissions	Preparation-	4.00
		Argument	
2018-07-30	Review evidence & prepare final submissions	Preparation-	2.50
		Argument	
2018-08-31	Review evidence & prepare final submissions; Send	Preparation-	8.00
	draft section to client; Call w/J. Girvan	Argument	
2018-08-02	Review evidence & prepare final submissions; Call	Preparation-	6.75
	w/client on draft	Argument	
2018-08-03	Review evidence & prepare final submissions	Preparation-	6.50
		Argument	
2018-08-06	Review evidence & prepare final submissions	Preparation-	4.75
		Argument	
2018-08-07	Review evidence & prepare final submissions;	Preparation-	7.25
	Review Board Staff Submissions; Review issues	Argument	
2018-08-08	Review evidence & prepare final submissions	Preparation-	7.00
		Argument	
2018-08-09	Review evidence & prepare final submissions	Preparation-	8.00
		Argument	
2018-08-10	Review & finalize submission	Preparation-	5.00
		Argument	
2019-05-09	Review Decision; Prepare briefing & brief AMPCO	Other	1.75
	Members on Key Issues at Spring AMPCO Meeting	Conferences	
		Total	338.00